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E(r) = z P(s).r(s)

E(r)a=0.25.(~0.1)+0.25.(0-1)+0.25(0.1)+0.25.(0.25) =(A)agadl adsial) it
E(r)a=0.0875=8.75%
E(r)s=0.25.(~0.15)+0.25.(0)+0.25(0.1)+0.25(0.2) = (B) aguull ad gial) atlal
E(r)s=0.0375=3.75%

(@hall Giladyl) (A) ageeddd A8 halial) cilua :Lils
Sl Ghail ape bl Ghadl gl Sl sl (Jlaial) sl
(rs)-E(s)2 e-Es)  Em T P(s)
0.03515625  -0.1875  0.0875 -0.1  (0.25) 25,
0.00015625 0.0125  0.0875 0.1  (0.25) sl
0.00015625 0.0125  0.0875 0.1 (0.25) byl
0.02640625 0.1625  0.0875 0.25 (0.25) z's,
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(r(s)—E(s))z ris)-E(s) E(r) r(s) P(s)
0.03515625 -0.1875 0.0375 -0.15 (0.25) 23S
0.00140625 -0.0375 0.0375 0 (0.25) s
0.00390625 0.0625 0.0375 0.1 (0.25) Oyl
0.02640625 0.1625 0.0375 0.2 (0.25) zlo

:(A) 2 catal)

o = Z P(s)[r(s) — E()]?

2

o =(A) 2 ot
0.25%(0.035156625)+0.25%(0.00015625)+0.25%(0.00015625)+0.25%(0.02640625
%9.45= 0.094570=0"

%30.75 = 0.3075=Y0.094570 = Vol =Vo = (A)glaall Gl
02=(B) = bl
0.25%(0.3515625)+0.25%(0.00140625)+0.25%(0.00390625)+0.25x (0.0264625)
%107.140= 1.07140 = ¢
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